

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

TAX INVOICE

EQ INSURANCE COMPANY LTD

5 MAXWELL ROAD #17-00 TOWER BLOCK

MND COMPLEX SINGAPORE 069110 INV No. AC2304154

INV Date 30/06/2023

Reference CS3/EQI23004110/Tvy3e2-1

Code EQI

PROFESSIONAL SERVICE FEE

Vehicle No. FBR 7098D

Insured Veh. YQ 3321T

Claim No. DM23HO00639/JS

Policy No. DMCPHQ23-000163

Accident Date 20/03/2023

Inspection Date 28/04/2023

Description	Total
Survey Report	150.00
Subtotal	150.00
GST (8%)	12.00
Grand Total	162.00

We shall be glad if you could forward the payment at your early convenience.

Cheque should be crossed and made payable to 'LKK Auto Consultants Pte Ltd'

LKK Auto Consultants Pte Ltd

KHM



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

	Affiliated to Federation Internationale Des Experts En Automobile					
	EQ INSURANCE C	OMPANY LTD		Ref:	CS3/EQI23004110/Tvy3e2-1	
	5 MAXWELL ROAD #17-00 TOWER BL MND COMPLEXSI	OCK		Date:	30/06/2023	
			(Code:	EQI	
1.		Policy Particulars	- THIRD PARTY	CLAIM		
	Insured Veh.	YQ 3321T	Veh. Inspected		FBR 7098D	
	Policy No.	DMCPHQ23-000163	Coverage (\$)		0.00	
	Claim No.	DM23HO00639/JS	Excess (\$)		0.00	
	Assign From	NEO JIE SI	Assign Date		14/06/2023	
2.		Vehicle Partic	ulars & Condition	on		
	Make & Model	YAMAHA AEROX	c.c		155	
	Engine No.	HIDDEN	Year of Reg.		2020	
	Chassis No.	MH3SG4620LJ078350	Colour		BLACK	
	Odometer	-	Steering		IN ORDER	
	Brakes	IN ORDER	Modification		NIL	
	General	GOOD				
3.	3. Conditions of Tyres					
		Size	Make		Balance	
	R/H Front Tyre	110/80 R14	MITAS		5 mm	
	L/H Front Tyre				mm	
	R/H Rear Tyre	120/80 R14	MITAS		5 mm	
	L/H Rear Tyre				mm	
4.		Description	on of Damages			
	THE VEHICLE SUSTAINED DAMAGES AT THE FRONT PORTION, O/S AND N/S BODY.					
	DAMAGES SEE DE	ETAILS.				
5.	. General Information					
	Accident Date	20/03/2023	Inspection Date	,	28/04/2023	
	Survey held at 1102 SERANGOON ROAD S 328196					
	Repairer	CCK CAR RENTAL				
5a.		Re	emarks			
	A)THE INSPECTION WAS CONDUCTED ON A"WITHOUT PREJUDICE" BASIS. B)IN ACCORDANCE TO YOUR INSTRUCTIONS, WE HAVE NOT AUTHORISED REPAIRS.					
5b.		Estimate	Days of Repair			
	ESTIMATED NORMAL PERIOD FOR REPAIR: 7 Working Days			ng Days		



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:1 of 3

ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. FBR 7098D

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	REPLACEMENT OF PARTS			
1	HANDLE BAR	BENT	275.00	120.00
1	HANDLE BAR UPPER COVER	CRACKED	158.00	60.00
1	HANDLE BAR INNER COVER	CRACKED	95.00	60.00
1	SET HANDLE BAR BALANCER L/R	MISSING / GRAZED	28.00	28.00
1	SET HANDLE BAR GRIP L/R	NECESSARY	60.00	60.00
1	FRONT WINDSHIELD	SCRATCHED	197.00	65.00
1	FRONT PANEL	CRACKED	115.00	115.00
1	FRONT COVER	CRACKED	85.00	85.00
1	SET FRONT VIEW MIRROR L/R	MISSING	160.00	120.00
1	METER ASSY	SERVICEABLE	580.00	-
2	BRAKE LEVER L/R @\$58.00	BENT	116.00	76.00
1	BRAKE LEVER HOLDER LH	BROKEN	45.00	45.00
1	FRONT BRAKE MASTER CYLINDER ASSY	GRAZED / PUNCTURE	258.00	120.00
1	FRONT BRAKE MASTER CYLINDER BRACKET	BROKEN	34.00	34.00
1	FRONT HEADLAMP ASSY	BROKEN	780.00	499.00
1	FRONT LOWER COVER	TORN	95.00	95.00
1	FRONT STAY	BENT	58.00	58.00
2	FRONT BODY SIDE COWLING L/R @\$245.00	GRAZED / CRACKED	490.00	490.00
2	FRONT BODY SIDE PANEL L/R @\$195.00	CRACKED	390.00	390.00
2	FRONT LOWER SIDE MOLE COVER L/R @\$98.00	GRAZED	196.00	136.00
2	FRONT LOWER SIDE PANEL L/R @\$145.00	GRAZED / CRACKED	290.00	290.00
2	FOOTREST BOARD L/R @\$280.00	CRACKED / GRAZED	560.00	166.00
2	FOOTREST BOARD MAT L/R @\$48.00	SERVICEABLE	96.00	-
2	CENTER SIDE COVER L/R @\$190.00	CRACKED	380.00	380.00
2	FRONT SIGNAL LAMP L/R @\$75.00	CRACKED	150.00	150.00
1	FRONT LEG SHIELD ASSY	CRACKED	298.00	298.00
2	FRONT LEG SHIELD BRACKET L/R @\$48.00	SERVICEABLE	96.00	-
1	BODY CENTER COVER	CRACKED	180.00	180.00

Report Ref No. CS3/EQI23004110/Tvy3e2-1



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:2 of 3

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
1	BODY CENTER COVER FUEL LIP	CRACKED	60.00	60.00
1	LOWER UNDER COVER	TORN	160.00	160.00
2	FORK SHAFT ASSY L/R @\$680.00	BENT	1,360.00	596.00
1	LOWER FORK BRACKET	BENT	740.00	190.00
1	FRONT FENDER	GRAZED	145.00	110.00
1	FRONT INNER FENDER	SERVICEABLE	210.00	-
1	FRONT WHEEL RIM	WARPED	580.00	350.00
1	FRONT BRAKE DISC	SERVICEABLE	415.00	-
1	FRONT WHEEL AXLE	NECESSARY	57.00	57.00
2	REAR SIDE COVER L/R @\$160.00	SERVICEABLE	320.00	-
1	REAR AIR-CLEANER CASE COVER	GRAZED	160.00	74.00
1	REAR AIR-INTAKE COVER	GRAZED	58.00	58.00
1	REAR CRANKCASE COVER	GRAZED	180.00	79.00
1	REAR EXHAUST MUFFLER PROTECTOR	CRACKED	140.00	60.00
	LESS 10% DISCOUNT		-1,085.00	-591.40
			9,765.00	5,322.60
	SPECIAL NETT ITEMS			
1	SET STEERING CONE UPPER / LOWER BEARING (SN)	NECESSARY	68.00	68.00
1	SET FRONT WHEEL RIM BEARING (SN)	NECESSARY	48.00	48.00
1	SET FRONT WHEEL RIM SEAL (SN)	NECESSARY	12.00	12.00
1	FRONT WHEEL RIM COLLAR (SN)	NECESSARY	18.00	18.00
1	FRONT COVER EMBLEM (SN)	NECESSARY	6.00	6.00
1	SET FRONT BODY COWLING & COVER DECAL (SN)	NECESSARY	120.00	120.00
1	FRONT NUMBER PLATE (SN)	GRAZED	15.00	15.00
1	SET BODY CRUSH BAR (SN)	GRAZED / BENT	380.00	300.00
1	AGV K5 SOLID OPEN FACE HELMET (SN)	GRAZED	600.00	400.00
1	REAR ALUMINIUM TOP CASE (SN)	GRAZED	560.00	360.00
1	SET REAR TOP CASE BRACKET (SN)	TO REPAIR SEE LABOUR	350.00	-
			2,177.00	1,347.00
	<u>LABOUR</u>			
	TOWING SERVICES. (2 TRIPS)		80.00	80.00
	TO CONDUCT FRONT BODY FRAME ALIGNMENT.		250.00	150.00

Report Ref No. CS3/EQI23004110/Tvy3e2-1



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:3 of 3

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	TO CHECK WIRING, RE-CONNECTION, LIGHTING SYSTEM & RESET.		50.00	30.00
	REPLACE, REALIGN & ADJUST ABOVE DAMAGED PARTS. TO REMOVE, REINSTALL, REPAIR & WHEEL RIM BALANCING. INCLUSIVE OF THE REPAIR OF 1 SET REAR TOP CASE BRACKET.		600.00	350.00
			980.00	610.00
	GRAND TOTAL		12,922.00	7,279.60

RECOMMENDED COST OF LUMP SUM REPAIRS		5,800.00
(TO ITS PRE-ACCIDENT CONDITION)		

Report Ref No. CS3/EQI23004110/Tvy3e2-1

MOHAMAD TAUFIKH

M.MATAI, AMSAE-A

ANG BRYAN TANI

Automotive Assessor / Investigator

Automotive Assessor

DISCLAIMER OF LIABILITY TO THIRD PARTIES:- This Report is made solely for the use and benefit of the Client named on the front page of this Report.

No liability of responsibility whatsoever, in contact or tort, is accepted to any third party who may reply on the Report wholly or in part. Any third party acting or replying on this Report, in whole or in part, does so at his or her own risk.